
WITHOUT THE WRITTEN PERMISSION OF INSTALLATION
SIZE

ANY REPRODUCTION IN PART OR AS A WHOLE

THE INFORMATION CONTAINED IN THIS

DRAWN

DATE

PROPRIETARY AND CONFIDENTIAL

FINISH

AA

INTERPRET GEOMETRIC

DRAWING IS THE SOLE PROPERTY OF

TECA CORPORATION IS PROHIBITED.

SK180229
S1367

02/27/18

SHEET 1 OF 1

THREE PLACE DECIMAL  
TECA CORPORATION. 

A
DWG.  NO.

CHECKED

MATERIAL

TOLERANCING PER:

NAME

DO NOT SCALE DRAWING

REV

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    CH-1800

AHP-1800CPV HINGED COVER

UNLESS OTHERWISE SPECIFIED:

1) Unscrew & remove (4) 8-32 x 1/4 screws1) Unscrew & remove (4) 8-32 x 1/4 screws1) Unscrew & remove (4) 8-32 x 1/4 screws

2) Unscrews & remove (2) middle 6-32 flat head screws

1) Unscrew & remove (4) 8-32 x 1/4 screws

2) Unscrews & remove (2) middle 6-32 flat head screws
3) Install CH-1800 Hinged Cover using (2) S1203 Shims,

(4) #8 lock washers & (4) 8-32x1/2 PHPMS screws

4) Install Cover Stop using included (2) #6 lock washers &
(2) 6-32x1 1/4 PHPMS screws 

S1203 Shim


